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(programming) Ee= 22 (coding)
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112{E (algorithm)

=M= 28017 flet WA LIAE
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sum = 0;
for(i=1; i<=100; i++) {

sum +=I;

}
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O Fortran, Cobol, Lisp, Basic, Algol, Prolog, ML, C++, Java S
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O BE Z12 74X |(object)O|LC.
O &= KHelof shok ek &, = M|~ (method)S Z=Lt.
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CeeziezmMuNweE = 00000000000
=ellA LXK (Class Diagram)

O 24| X[ef 2A SE20M2] 2Ax

O 222 (class)
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Customer Waiter
>
giveOrder calculateCheck

v

Cashier Cook
receiveMoney cookLasagna




e
Z=efBel 0=

O ZZ2Ho| JmQ EXtr 7t M 74X

O SW =&A9 S7I5E > HW 888 a8 s
O “SW = 7IALLE” “Software is gas.”
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